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QUESTION 1

You administer a Microsoft SQL Server 2012 database that contains a table named AccountTransaction. 

You discover that query performance on the table is poor due to fragmentation on the
IDX_AccountTransaction_AccountCode non-clustered index. 

You need to defragment the index. You also need to ensure that user queries are able to use the index during the
defragmenting process, 

A. ALTER INDEX IDX_AccountTransaction_AccountCode ON AccountTransaction.AccountCode REORGANIZE 

B. ALTER INDEX ALL ON AccountTransaction REBUILD 

C. ALTER INDEX IDX_AccountTransaction_AccountCode ON AccountTransaction.AccountCode REBUILD 

D. CREATE INDEX IDX AccountTransactionAccountCode ON AccountTransaction.AccountCode WITH DROP
EXISTING 

Correct Answer: A 

Only one index needs to be fixed. 

Reorganize keeps the index during the process, while rebuilding drops the index and then recreates it. 

Note: Reorganizing an index uses minimal system resources. It defragments the leaf level of clustered and nonclustered
indexes on tables and views by physically reordering the leaf-level pages to match the logical, left to right, order of the 

leaf nodes. Reorganizing also compacts the index pages. Compaction is based on the existing fill factor value. 

 

QUESTION 2

You are developing a SQL Server Integration Services (SSIS) package to implement an incremental data load strategy.
The package reads data from a source system that uses the SQL Server change data capture (CDC) feature. 

You have added a CDC Source component to the data flow to read changed data from the source system. 

You need to add a data flow transformation to redirect rows for separate processing of insert, update, and delete
operations. 

A. Pivot 

B. Merge 

C. Audit 

D. CDC Splitter 

Correct Answer: D 

http://technet.microsoft.com/en-us/library/hh758656.aspx 
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QUESTION 3

You are developing a SQL Server Integration Services (SSIS) package to implement an incremental data load strategy.
The package reads rows from a source system and compares them to rows in a destination system. New rows will be 

inserted and changed rows will be updated. 

You have used a Lookup transformation and a Conditional Split transformation. The Lookup transformation joins the
source and destination table on the business key, and includes all columns from the destination table in the data flow
output. 

The Conditional Split transformation inspects the destination columns and directs data flow to either insert new records
or update existing records. 

You need to configure the Lookup transformation to ensure that all records flow to the Conditional Split transformation,
regardless of whether the rows match an existing row in the destination table. Which setting should you select? (To
answer, select the appropriate option in the answer area.) 

Hot Area: 

Correct Answer: 
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QUESTION 4

A SQL Server Integration Services (SSIS) 2012 package currently downloads sales data from a Windows Azure SQL
Database database. 

To improve sales data accuracy, exchange rates must be downloaded daily from a public HTTP web service instead of
from a weekly flat file. 

You need to implement the change to the existing package while minimizing the development effort. 

A. a Script component 

B. a Web Service source 

C. a Web Service task 

D. a Script task 

Correct Answer: C 

 

QUESTION 5

You develop a SQL Server Integration Services (SSIS) package that imports Windows Azure SQL Database data into a
data warehouse every night. 

The Windows Azure SQL Database data contains many misspellings and variations of abbreviations. To import the
data, a developer used the Fuzzy Lookup transformation to choose the closest-matching string from a reference table of
allowed values. The number of rows in the reference table is very large. 

If no acceptable match is found, the Fuzzy Lookup transformation passes a null value. The current setting for the Fuzzy
Lookup similarity threshold is 0.50. 

Many values are incorrectly matched. 
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You need to ensure that more accurate matches are made by the Fuzzy Lookup transformation without degrading
performance. 

A. Change the similarity threshold to 0.40. 

B. Decrease the maximum number of matches per lookup. 

C. Change the similarity threshold to 0.55. 

D. Change the Exhaustive property to True. 

Correct Answer: C 

The similarity thresholds can be set at the component and join levels. The join-level similarity threshold is only available
when the transformation performs a fuzzy match between columns in the input and the reference table. The similarity
range is 0 to 1. The closer to 1 the threshold is, the more similar the rows and columns must be to qualify as duplicates. 
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